

# Halewood Delivery Schedule

Driver:

Truck: Super-Link

Trailer: No

Truck Tare Kg: 20,000  
 Truck GVM Kg: 54,000  
 Trailer Tare Kg: 0  
 Trailer GVM Kg: 0  
 Available Payload Kg: 34,000  
 Approx. Load Mass Kg: 30,910

**\*75601\***

Doc No.: 75601

Area	Customer	Has	Ord No.:	POS	Tot Qty	Pallets	Arrived
						Norm	Chep
SCT-	SCT Trf - Cape Town						
	SCT-HC		1987174		3,115		
							A: ..... L: ..... *19871
	Stops: 1		Invoices: 1		3,115	0	0

Sic60

JBK 136 FS

HALEWOOD WINES AND SPIRITS

24 JAN 2025

ORIGINAL

received  
3717

# Halewood Delivery Schedule

# Stock Breakdown

Driver:  
Truck: Super-Link  
Trailer: No

Truck Tare Kg: 20,000  
Truck GVM Kg: 54,000  
Trailer Tare Kg: 0  
Trailer GVM Kg: 0  
Available Payload Kg: 34,000  
Approx. Load Mass Kg: 30,910

**Doc No.: 75601**

Stock Code		Tot Qty	Unit Mass (kg)	Total Mass (kg)
DIVIDERBOARD-DISTRIBU	DIVIDER BOARDS DISTRIBUTION	34		
BELGINDLEM275MLNA	BELGRAVIA GIN & DRY LEMON NO	156	12.36	1,928.16
BELGINTON275MLNA	BELGRAVIA GIN & TONIC NON ALC	37	12.36	457.32
BELGRAVGIN200	BELGRAVIA 200ML @ 43%	74	7.26	537.24
BELGRAVPINGIN200ML	BELGRAVIA PINK GIN 200ML @ 30	29	7.26	210.54
BUFFELBRA750	BUFFELSFONTEIN BRANDEWYN 7	312	7.28	2,271.36
BUFFELWINEPIN750ML	BUFFELSFONTEIN PINOTAGE WIN	5	8.22	41.10
CTRUMBLACK750ML	CARIBBEAN TWIST BLACK RUM 75	17	7.29	123.93
BELGINDLEM275ML	BELGRAVIA GIN & DRY LEMON RT	1,092	12.36	13,497.12
CTSTRAWAT275ML	CARIBBEAN TWIST STRAWBERRY	390	12.30	4,797.00
WHITGINBORANGE750	WHITLEY NEILL GIN BLOOD ORAN	6	1.32	7.92
HBBLUETONIC24X200	HALL & BRAM BLUE TONIC WATER	21	5.50	115.50
PALLET	GENERAL PURPOSE PALLET	34	1.00	34.00
RSVODENERINF750ML	RED SQUARE FLAVOURED VODKA	104	8.95	930.80
RSVODKA750ML	RED SQUARE VODKA 750ML @ 43	728	7.38	5,372.64
RSVODPASFRU750ML	RED SQUARE FLAVOURED VODKA	11	8.95	98.45
RSVODSTRAW750ML	RED SQUARE VODKA STRAWBER	19	7.39	140.41
RSVODTOFF750ML	RED SQUARE VODKA TOFFEE 750	7	7.38	51.66
SKSTRA/CRE750	SIDEKICK STRAWBERRY CREAM L	22	7.75	170.50
CTRUMSPCED750ML	CARIBBEAN TWIST SPICED RUM 7	17	7.29	123.93
		<b>3,115</b>		<b>30,909.58</b>
Chep Pallets:		0.00	40.00	0.00
Normal Pallets:		0.00	20.00	0.00
		<b>3,115</b>		<b>30,909.58</b>

**received**  
3717 *MR*

HALEWOOD WINES AND SPIRITS  
24 JAN 2025  
ORIGINAL *ES*

# HALEWOOD

SOUTH AFRICA

Halewood International South Africa (Pty) Ltd v/a Halewood South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
 APEX EXTENSION 1 FAX: +27 11 422 5888  
 BENONI 1501

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 22/01/2025  
 at: 11:02:04

DELIVER TO:

Halewood - Cape Town  
 Halewood International S A - Cape Town  
 12 Gemini Street  
 Brackentell  
 Cape Town  
 Barry

Shipping Instructions:



29439

INVOICE TO: Halewood - Johannesburg  
 Halewood International S A (Pty) Ltd  
 61 Toronto Street  
 Apex Extension 1  
 Benoni  
 1501

101335

CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	1987174		22/01/25	22/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
BUFFELBRA750	BUFFELSFONTEIN BRANDEWYN 750ML @ 43%	CS	312	0	HH	793.69	247,632.17
BELGINDLEM275ML	BELGRAVIA GIN & DRY LEMON RTD NRB 275ML @ 5%	CS	1,092	0	HH	208.29	227,456.84
BUFFELWINEPIN750ML	BUFFELSFONTEIN PINOTAGE WINE 750ML @ 14%	CS	5	0	HH	358.80	1,794.00
CTRUMBLACK750ML	CARIBBEAN TWIST BLACK RUM 750ML @ 43%	CS	17	0	HH	773.19	13,144.31
CTRUMSPCED750ML	CARIBBEAN TWIST SPICED RUM 750ML @ 35%	CS	17	0	HH	610.82	10,383.88
RSVODENERINF750ML	RED SQUARE FLAVOURED VODKA ENERGY INFUSION 750ML	CS	104	0	HH	424.67	44,166.08
RSVODKA750ML	RED SQUARE VODKA 750ML @ 43%	CS	728	0	HH	654.76	476,668.16
RSVODPASFRU750ML	RED SQUARE FLAVOURED VODKA PASSION FRUIT 750ML	CS	11	0	HH	423.12	4,654.34
RSVODSTRAW750ML	RED SQUARE VODKA STRAWBERRY 750ML @ 25%	CS	19	0	HH	424.68	8,068.98
RSVODTOFF750ML	RED SQUARE VODKA TOFFEE 750ML @ 25%	CS	7	0	HH	436.33	3,054.34
SKSTRA/CRE750	SIDEKICK STRAWBERRY CREAM LIQUEUR 750ML @ 15.5%	CS	22	0	HH	501.33	11,029.20
BELGINDLEM275MLNA	BELGRAVIA GIN & DRY LEMON NON ALCOL RTD NRB 275ML	CS	156	0	HH	112.38	17,531.40
BELGINTON275MLNA	BELGRAVIA GIN & TONIC NON ALCOHOLIC RTD NRB 275ML	CS	37	0	HH	109.57	4,054.07
CTSTRAWAT 275ML	CARIBBEAN TWIST STRAWBERRY & W/MELON RTD NRB 275ML	CS	390	0	HH	219.40	85,565.71
HBBLUETONIC24X200	HALL & BRAM BLUE TONIC WATER CAN 200ML @ 0%	CS	21	0	HH	88.11	1,850.37

Seal NO. 7442301 To 7442310

HALEWOOD INTERNATIONAL (PTY) LTD  
 12 GEMINI STREET  
 BRACKENFELL, CAPE TOWN  
 021 982 4100(T) | 021 982 4127 (F)

# HALEWOOD

SOUTH AFRICA

Haleywood International South Africa (Pty) Ltd t/a HALEWOOD South Africa  
 Company Registration number 1998/001887/07  
 www.halewood.co.za

61 TORONTO STREET TEL: +27 11 746 4200  
 APEX EXTENSION 1 FAX: +27 11 422 5888  
 BENONI 1501

VAT Reg No : 4590177624

PO BOX 2132  
 BENONI 1500  
 SOUTH AFRICA

MANUFACTURING & DISTRIBUTION LICENCE: RG000275

BANKING DETAILS:  
 FIRST NATIONAL BANK  
 A/C NO: 62889748368  
 BRANCH CODE: 240129  
 REFERENCE:

Printed on: 22/01/2025  
 at: 11:02:04

DELIVER TO: HALEWOOD - CAPE TOWN  
 HALEWOOD INTERNATIONAL S A - CAPE TOWN  
 12 GEMINI STREET  
 BRACKENFELL  
 CAPE TOWN  
 Barry

INVOICE TO: HALEWOOD - JOHANNESBURG  
 HALEWOOD INTERNATIONAL S A (PTY) LTD  
 61 TORONTO STREET  
 APEX EXTENSION 1  
 BENONI  
 1501



CUST ACC	CUSTOMER REF	STORE NO.	BR	OUR REF	REP	ORD DATE	INV DATE	TERMS	GA	CUST VAT NUM
			HC	1987174		22/01/25	22/01/25			

Stock Code	Description	Pack	Cases	Bottles	Wh	Unit Price	Line Value
WHITGINBORANGE750	WHITLEY NEILL GIN BLOOD ORANGE 750ML @ 43%	EA	0	6	HH	129.71	778.27
BELGRAVGIN200	BELGRAVIA 200ML @ 43%	CS	74	0	HH	390.42	28,890.80
BELGRAVPINGIN200ML	BELGRAVIA PINK GIN 200ML @ 30%	CS	29	0	HH	301.96	8,756.94
PALLET	GENERAL PURPOSE PALLET	EA	0	34	HH	138.00	4,692.00
DIVIDERBOARD-DISTRIBUTI	DIVIDER BOARDS DISTRIBUTION	EA	0	34	HH	5.22	177.48

HALEWOOD

HALEWOOD INTERNATIONAL (PTY) LTD  
 12 GEMINI STREET  
 BRACKENFELL, CAPE TOWN  
 021 982 4100(T) | 021 982 4127 (F)

PAYMENT TERMS STRICTLY C.O.D. UNLESS CREDIT TERMS HAVE BEEN ARRANGED IN WRITING

TRANSPORTATION:  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

CUSTOMER:  
 PLEASE RECEIVE ABOVE GOODS IN GOOD ORDER & CONDITION  
 Any discrepancy between goods received and those detailed in this Waybill should be immediately notified.  
 No responsibility accepted for goods signed for unchecked  
 No goods may be returned unless prior arrangements are made in writing  
 Returns are subject to a 10% handling charge  
 Commercial quality equipment is not to be used for lifting applications

SUB-TOTAL	ZAR	1,200,349.34
VAT	ZAR	0.00
TOTAL	ZAR	1,200,349.34

VEHICLE REGISTRATION NO: ..... PRINT NAME: .....  
 SIGNATURE: ..... DATE: .....

PRINT NAME: .....  
 SIGNATURE: .....  
 DATE: 31.1.25